NAME

~ SN

3 2R77IEIN FIREAENO 2

mistake

)

)

@®

#REENO1 2 DRSE

x2—49=0

x2—11=0

25x2=4

x2—24=0

36x2=13

7x2—-3=0

x2—40=0

x2—9=17

x24+4=16

x2—8=20

81x24T7=39

32x2—11=9

8x2+5=23

18x2—6=2x2

14x2 — 36=06x2
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@ (x—5)*=1

@ (x+2)2=16

® (x—9)2=5

@ (x—8)2=18

® (x—7)2=60

® (x—1)2—25=0

@ (x+4)2—45=0

(x—3)(x+9)=0

© (x+6)(x—7)=0

x(2x+13)=0

@ 4x(3x—1)=0

@ —x(5x—9)=0

B (7x—3)(4x+1)=0

@(8x—5)(5x—2)=0

®(10x—7)(9x—2)=0
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64x2+48x+9=0

FIEOOE®
©@ x2+5x—24=0

FIE®O®
x+40=(x—2)2

FIE@®O®
M(x—3)(x—7)+8=4

FIE@®®
@(x—8)(x+4)=22—x

FIE@®®
@ (2x—3)2—19=3(x2— 3x)

PIEE®®

@(x—7)(x—5)+ (x—4) (x+4)=1

PIEE®®

®(2x—1)2=2x(x+2)+25
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